General Pathology

Which of the following cause the formation of free radicals

A
radiant energy

B
CCl4

C
oxidized LDL

D
Fe2+

Which of the following mediate pain

A
Prostaglandins

B
Histamine

C
Bradykinin

Immunity in tuberculosis is mediated by

A
Plasma cells

B
Complement

C
Macrophages

D
Eosinophils

E
Neutrophils

The following causes edema

A
lympathic obstruction

B
liver cirrhosis

C
nephrotic syndrome

D
cardiac failure

E
anemia

The following are important for wound healing

A
regeneration

B
angiogenesis

C
fibrosis

D
hemostasis

The following impairs wound healing

A
lack of vitamin A

B
lack of vitamin C

C
chemotherapy

D
glucocorticoid treatment

E
diabetes

The following indicate necrotic cell death

A
infarct

B
gangrene

C
fatty change

D
pyknosis

E
karyolysis

Apoptosis involves

A
death of group of contigous cells

B
activation of energy dependenant endonucleases

The following increases risk of venous thrombosis

A
pregnancy

B
heparin therapy

The following of atropy is true

A
Atrophic ells contain fewer than normal number of cytoplasmic organelles

B
Atrophy occurs in otherwise normal tissues if their workload is decreased

C
Atrophy occurs in otherwise normal tissues if the blood supply is decreased

D
Appearance of autophagic vacoules in cells undergoing atrophy signal irreversible


cell injury and impending cell death

E
Atrophy begins to occur in most tissues imemdatiately after the death of the


Individual

Cancer

Chemotherapy

A
Mitotic inhibitors and antimetabolites are non-cell cycle specific drugs

B
Large tumors have lower growth rate and growth fractions compared to smaller tumors

C
Combined therapy has potential against drug resistance and maximum cell kill

D
Testicular cancer is incurable because growth rate is very slow

E
Chemotherapy kills a fixed percentage of cells rather than an absolute number

Cancer epidemiology in Singapore

A
Percentage of deaths caused by cancer in Singapore is 28% per year

B
Increased death rate caused by cancer can be attributed to increased awareness

C
Every year, number of deaths caused by cancer is the same

Evidence of tumor associated antigens

A
presence of oncogenes in tumor

B
presence of antitumor antibodies in patients sera

C
presence of lymphocytes in tumor

D
presence of immunoglobulins in tumor

E
host lymphocytes kill own tumor in vitro

Tumor escape immune response by

A
upregulating MHC

B
shedding MHC

C
modifying gene for MHC I antigens

D
producing enhancing antibodies

E
secreting TGF-beta

Radiation

A 
0.1 Gray dose is capable of causing acute radiation sickness

B
Commonest disease after Chernobyl accident was thyroid cancer

C
Radon in the environment is caused by high levels of uranium

D
Cataract is caused by ionizing radiation on lens DNA

